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4153

1. =
1000
a) 41.53

c) 4.153

265.3

2. =
100
a) 2.635

c) 26.53
3.0.0075 =

75
a) on
1000

75
10000

4.750 ml =

c)

a) 7.5 Liter
c) 75 Liter
5.2578 m =

a) 2.578 km

c) 257.8 km

6. Mark True / False

liter

km

3452.35=3000+400+50+2+0.3+0.5

a) True

7.457.345 =

5 4

3
a) 400 +50+7+—+—— + ——

10 100 1000
3 4 5

b) 400+50+7+—+—— +——

c) 400+50+7+—+—+

d) None of these

10 100 1000
3 4 5

10 10 1000
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b)
d)

b)
d)

b)

d)

b)
d)

b)
d)

b)

415.30

0.4153

2.653

2653

750
10000

None of these

0.75 Liter

None of these

25.78 km

0.2578 km

False
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8. What is the common fraction of 2.00977

20097
a)
1000
20097
c)
10000
9.934.967 93.4967
a) <
c) <=
10. 5.789645 5.789745
a) <
c) =
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b)

d)

b)
d)

b)
d)

2097

1000

None of these

>

None of these



